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CHEMISTRY
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The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

1. Answer any five of the following: 1x5=5
(T (FICAT ~ATef6 A7 T W |

(a) What is the Sl unit of equivalent conductance?

OATE ARO[ S| G5 BI?

(b) Write the significance of the equation: AG°= - nFE?2,),
AG°= - nFEY,, STNIFATR O18 7 B2

(c) Among W, g and H, which one is a state function?

W, q 328 H - A7 N (N0 IZR T2

(d) What is the relation between K, and K?
Kp 38 K, I ST 2
(e) What is Lucas Test?
ST AT B2
(F) By which reagent you can distinguish between CH3CHO and PhCHO?
(I [RPITF RIAT CH3CHO & PhCHO 1 T “TLFT FAR?
(g) Convert PhMgBr to Benzene.
PhMgBr (AT ([IGN ST P |

(h) Draw the plot for conductometric titration of weak acid vs. strong base.

T TG 8 SIFWIR I3 IR ARQAMROR (4o a W=« FE1



2. Answer any two of the following: 2x5=10
(T (PICAT G AT T8 W8 |

(@ (i) Convert:

NATS] BET:
Br COOH
O — O
COCH; COOH

58

(it)  Identify A and B.
A G B (P AN Rl

O

ij Ba(OH), A I, B
(1x3)+1+1 =5

(b) (i) Prepare the following compounds using Grignard reagent.

faomE fRATTrG 929 T [ARfAe Qe oEge 11

(A) CH3CH,OH

(B) CH3COCH;s
(ii) Identify ‘A’

‘A’ (P NS PUAT:



CHO
e
A
CHO

(c) (i) State the Clausius statement of second law of thermodynamics.

SNSRI fRers Srad FHeTa [IFSMT @

(ii) Give example of an isolated system.

g6 N1 SIorNa SHIza WS |

(iii) Calculate the work done by 2 mol of an ideal gas when it expands isothermally and
reversibly at 27 °C from a volume of 3L to 6L.

27 °C ST¥NTETT 2 mol G516 SW*f SIITHTE ST 8 AR ATGHTT ST T1f7e
FAEA Ao WO 3L (ATFH 6L TV | TR TN FORICIF AN
o2 1+1+3=5

(1.5x2)+2=5

(d) (i) Describe the variation of Equivalent conductance of a solution with dilution.

B0 TIN QNS AFIRIOTT S Ao ST=HB0 Iof1 BT

(i) Describe Kohlrausch’s Law of independent migration of ions.

(AR TN S [EIT AL GTS 3&|3?ST‘<I’STWTI

(iii) Write the Sl unit of molar conductance.

(TR NI S| JFF @07 2+2+1=5
3. Answer any one of the following: 10x1 =10
(T (AT G0 AT TSI WS |

(@) (i) Draw the Carnot cycle in a P-V diagram indicating all the steps. What is the

efficiency of such a cycle?
PSP P-V (LT RN BT A2 ASE Q197 I FAT 192 Blepg PPl
CoREIE

(it) If the transport number of the cation in aqueous solution of KCI is 0.62, then what

will be the transport number of chloride ion in that solution?

KCI Sl HRCTR IO A7 NRIRA SN T 0.2 | OIRCA RN A7
HIIRN ST o2

(iii) Draw a graph of t. vs t..

t, NN t. A9 (YOG T~ Bl (4+1)+2+3 = 10



(b) (i) Write short notes on
SR BT (=TT
(A) Reimer Tiemann reaction
(B) Benzoin condensation
(QTSTRN PANTOGNCTHN
(it) How do you distinguish between acetaldehyde and acetone?
SHEIATGRIRG 8 SHITBIAR WL BroNF A1YH] FA?
(ii1) What happens when ethanol reacts with I, in alkaline medium?
TP WLITN BN AR 1,-47 RAG7 F =92

(iv) How will you convert acetone into mesitylene?

TIFIONIE Bror (MR FSRe FAR? (2+2)+2+2+2 = 10




